OTK Brake Equalizer and Brake Push Rod Parts

o Q;

b

T =% op




OTK Brake Equalizer and Brake Push Rod Parts Prices

A Pump Push Rod System, BS2 44.85
B 0117.00A Pump Push Rod System, BS6/BS7 48.75
C Push Rod Plate 14.63
D Pump Push Rod 68cm, BS1/BS2 5.85
E 0119.A1 Pump Push Rod 53cm, BS4/5/6/7 7.80
F Cotter Pin 0.14
G Fork M6x12 3.90
H 0028.B1 Fork M6x24 4.88
| Pin 6x18 (1 Hole) 2.34
J Pin 6x22mm (2 Hole) 4.88
K D.M6 M6 Jam Nut 0.12
L R.P.6X11 Washer 6.4x11x1.5mm 0.15
M R.P.6X12 Washer 6.3x12.5x1mm 0.18
N M6 Threaded Pin with Head 6.83
(o) D.M6A.B Short Self Locking Nut 0.26
P 0116.B8 Circle Spring Clip 0.94
Q Brake Pump Control Rod--- 290-355-395-435-470-480-490mm
510-525-540-560-575-595-600-610mm 11.70
R 0118.435A Brake Rod Bent 435mm 19.50
R 0118.470A Brake Rod Bent 470mm 19.50
S 0119.00A Complete Set of Lengthening Arms BS5 87.75
T 0119.04A BS5 Lengthening Arms Plate 17.55
\Y Central Peg for BS5 Lengthening Arms 11.70
X Anti-Unscrewing Rubber for BS5 Lengthening Arms 0.12
Y G.6X8 Lock M6x8 Flat Tip 0.23
Z R.E.6 Spring Washer M6 0.16
Threaded Bar for BS5 Lengthening Arms 0.59




